public class AULhOT { e = . .. Total = 3
private String name;
private int age;

public Author (String name, int age) { . . 2
this.name = name;
this.age = age ;

}
public int getAge () { s & .1
return age;

}

public class Faculty extends AUthOT{ . . 1 .. Total =

private double salary;
private String position;

public Faculty(String name, int age, double salary, String position) {
SUPEYr (NAME, AGE) ; covrveeererrererssesssenesesenesenennans = . 2
this.salary = salary;
this.position = position;

public class Paper { .. Total = 26
private String title;
private int nbWords;

private Author AarAUth[]; . « o1
private int nba; = s - 1
public Paper (String title, int nbWords) { -—————- / 3

this.title = title;
this.nbWords = nbWords;

arAuth = new AUthor[5]; . .1+ 1
nba = 07 e - .1
}
public Paper (Paper P) { . « B R / 5

this.title = P.title;
this.nbWords = P.nbWords;

arAuth = new Author[P.arAuth.lengthl; . .1
for (int 1=0; 1i<P.nba; 1++)  e—— .1
arAuth[i] = P.arBAUuth[i]; e 1

nba = P.nba;



public boolean addAuthor (Author a) { —-————-- /5
if (nba < arAuth.length) { e .
arAuth [nba] = a; .
nba 47 e .
return true; 0 e .

e e

else
return £alse; e - .1

public Author findYoungestAuthor() { ------—- / 5
Author res = arBUth 0] e 1

for (Ant 1 = 1; 1 < 0DA;7 1HF)  { oo 1
if (arAuth[i].getAge () < reS.getAGe () ) cieiiieiiiinieenieene o .
res = arAUuth 1] e o o1

}

LEEULN TES; oottt 1

public int getNbWords () { .o = N R /1
return nbWords;

}

public int countAuthors(int a){ ------- / 5
Aint count =07 e o 1

for (int 1=0; 1 < NDA; 1) { oo 1
if (arAuth[i].getAge () >= @) veeeeeeeeereeeenes o .1
COUNTHH; oot eeeen o .1
}

FEEUXN COUNL; ittt 1

public class Conference{ .. Total = 23
private String name;
private String location;

private Paper arPap]; e - .1
private int nbp; = e .1

public Conference (String name, String location, int size){ ------- /
this.name = name;
this.location = location;
arPap = new Paper[Size]; e .1

NP = 07 et .1



public boolean addPaper (Paper p) { —-———-—-— / 6

if (nbp < arPap.length) { e .1
arPap [nbp] = New Paper (D) 7 .iieeieiieeiiiees o .1+ 1
NDPHH; s © 1
return tIUE; . .1
}
else
return £alSe; s 1

}

public void splitPaper (int n, Paper[]longPapers, Paper[]shortPapers) ---- / 9
{

INE =0, K=07 oo .1+ 1
for (int i = 0; 1 < nbP; 1H4) { e - 1
if (arPapl[i].getNOWords () > N) { e 1
longPapers[J] = arPap ] eeeescieeenes .1
s o 2SS .1
}
€L1SE@ oo - 1
{
shortPapers[k] = arPapl[K]; e 1
KF47 e .1
}
}
}
public int countSeniorAuthors(){ --—-—-——-—- / 4
int count =07 e - .1
for (int i = 0; 1 < NbP; 14+) { s .1
count += arPap[i].countBAuthors (50); .o « .1
}
retUrn COUNL; .iicicecececececeeeeeeeen .1
}



